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Questions

Hypoglycemia result due to:

Lactose and maltose are;

Which one of the following is non- reducing in nature;

Which one is a pentahydroxy ketone?

Glucose and fructose are;

Monosaccharides consist of:

The general formula of carbohydrate is:

Which are responsible for transmitting genetic information form generation to generation:

Which one of these protects us against the disease;

When bromine water is added to acetylene its red-brown colour is changed into:

Which one of the following is polmerized to from benzene?

Which of one of the following is used as as fumigant:

Answers Choice

oW DOmP DODP DOEP DODP D0EP DOEP DOEP U0DP DOmP

WP UomP

. high cholesterol level

. low cholesterol level

. low sugar level in body
. high sugar level in body

. monosaccharides
. disaccharides
. trisaccharides

tetrasaccharides

glucose
fructose
starch

sucrose

sucrose
glucose
fructose
lactose

trioses
tetroses
pentoses
hexoses

2 to 6 carbon atoms

3 to 9 carbon atoms

4 to 10 carbon atoms
10 to 15 carbon atoms

C2n(H20)
CN(H20)n
Cn(H20)2n
C2n(H20)n

vitamins
lipids
proteins

. Nucleic acids

. Carbohydrates

Lipids
Proteins

. all of these

red
green
violet

. discharged

ethane
ethene
methane
ethyne

. Ethyl alcohol

. ethylene oxide
C.
D.

ethylene glycol
diethyl ether



